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4

0 or 1  

f d1,d2,d3,d4( ) = 20 d1 + 2
1 d2 + 2

2 d3 + 2
3 d4( ) /15 

C  
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(i) 5 (ii) 15 100

(iii) 15 200 150

C
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C

 

 

 

C a b c
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root print_tree
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ROM, DRAM, SRAM

 

 

D=A*B+C

 

PUSH(A) PUSH(B) MLT PUSH(C) ADD POP(D) 

D=X*Y+Z/(P Q)

MLT DIV ADD SUB

 

 

(

)  

 

64bit CPU 1980 16bit CPU

16bit 

CPU

CPU
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A = {a, b, c, d}  

 

x = (x1x0), y = (y1y0) 2 2

x > y z = 1 z = 0 MIL

 

 

6 1 6
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X = 0 1 Pn (X =1) Pn (X = 0)
P0(X =1) = p0 P0(X = 0) = p1

P (X =1) P (X = 0)

X = 0 1
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 A =
0 1

1 4

 

 
 

 

 
  

a. A 1 , 2  

b. A v1 v2  

c. T  

T 1AT=
1 0

0 2

 

 
 

 

 
  

 

 

  

 

d. R3  

       a1 = 0,1,1( ) ,  a2 = 1,0,1( ), a3 = 2,2, 1( )   

a1, a2 , a3  

 

e. R4  

    b1 = 1,0,3,2( ) b2 = 2,1,0,3( ) b3 = 0,3,2,1( ) b4 = 3,2,1,0( )  
W  

 


